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price at maturity. The new note is not an
intercompany obligation, it has a $70 issue
price and $100 stated redemption price at
maturity, and the $30 of original issue
discount will be taken into account by B and
X under sections 163(e) and 1272.

(d) Creditor deconsolidation. The facts are
the same as in paragraph (a) of this Example
2, except that P sells S’s stock to X (rather
than S’s selling the note of B). Under
paragraph (g)(3) of this section, the note is
treated as satisfied by B for its $70 fair market
value immediately before S becomes a
nonmember, and B is treated as reissuing a
new note to S immediately after S becomes
a nonmember. The results for S’s $30 of loss
and B’s discharge of indebtedness income are
the same as in paragraph (b) of this Example
2. The new note is not an intercompany
obligation, it has a $70 issue price and $100
stated redemption price at maturity, and the
$30 of original issue discount will be taken
into account by B and S under sections
163(e) and 1272.

(e) Debtor deconsolidation. The facts are
the same as in paragraph (a) of this Example
2, except that P sells B’s stock to X (rather
than S’s selling the note of B). The results are
the same as in paragraph (d) of this Example
2.

(f) Appreciated note. The facts are the same
as in paragraph (a) of this Example 2, except
that S sells B’s note to X for $130 (rather than
$70), reflecting a decline in prevailing market
interest rates. Under paragraph (g)(3) of this
section, B’s note is treated as satisfied for
$130 immediately before S’s sale of the note
to X. Under §1.163-7(c), B takes into account
$30 of repurchase premium. On a separate
entity basis, S’s $30 gain would be a capital
gain under section 1271(a)(1), and B’s $30
premium deduction would be an ordinary
deduction. Under the matching rule,
however, the attributes of S’s intercompany
item and B’s corresponding item must be
redetermined to produce the same effect as
if the transaction had occurred between
divisions of a single corporation. Under
paragraph (c)(4)(i) of this section, the
attributes of B’s corresponding premium
deduction control the attributes of S’s
intercompany gain. Accordingly, S’s gain is
treated as ordinary income. B is also treated
as reissuing a new note directly to X which
is not an intercompany obligation. The new
note has a $130 issue price and a $100 stated
redemption price at maturity. Under 8§ 1.61—
12(c), B’s $30 premium income under the
new note is taken into account over the life
of the new note.

Example 3. Loss or bad debt deduction
with respect to intercompany debt. (a) Facts.
On January 1 of Year 1, B borrows $100 from
S in return for B’s note providing for $10 of
interest annually at the end of each year, and
repayment of $100 at the end of Year 5. In
Year 3, S sells B’s note to P for $60. B is
never insolvent within the meaning of
section 108(d)(3). Assume B’s note is not a
security within the meaning of section
165(9)(2).

(b) Deemed satisfaction and reissuance.
Under paragraph (g)(3) of this section, B is
treated as satisfying its note for $60
immediately before the sale, and reissuing a
new note directly to P with a $60 issue price

and a $100 stated redemption price at
maturity. On a separate entity basis, S’s $40
loss would be a capital loss, and B’s $40
income would be ordinary income. Under the
matching rule, however, the attributes of S’s
intercompany item and B’s corresponding
item must be redetermined to produce the
same effect as if the transaction had occurred
between divisions of a single corporation.
Under paragraph (c)(4)(i) of this section, the
attributes of B’s corresponding discharge of
indebtedness income control the attributes of
S’s intercompany loss. Accordingly, S’s loss
is treated as ordinary loss.

(c) Partial bad debt deduction. The facts
are the same as in paragraph (a) of this
Example 3, except that S claims a $40 partial
bad debt deduction under section 166(a)(2)
(rather than selling the note to P). The results
are the same as in paragraph (b) of this
Example 3. B’s note is treated as satisfied and
reissued with a $60 issue price. S’s $40
intercompany deduction and B’s $40
corresponding income are both ordinary.

(d) Insolvent debtor. The facts are the same
as in paragraph (a) of this Example 3, except
that B is insolvent within the meaning of
section 108(d)(3) at the time that S sells the
note to P. On a separate entity basis, S’s $40
loss would be capital, B’s $40 income would
be excluded from gross income under section
108(a), and B would reduce attributes under
section 108(b) or section 1017. However,
under paragraph (g)(3)(ii)(B) of this section,
section 108(a) does not apply to B’s income
to characterize it as excluded from gross
income. Accordingly, the attributes of S’s
intercompany loss and B’s corresponding
income are redetermined in the same manner
as in paragraph (b) of this Example 3.

Example 4. Nonintercompany debt
becomes intercompany debt. (a) Facts. On
January 1 of Year 1, B borrows $100 from X
in return for B’s note providing for $10 of
interest annually at the end of each year, and
repayment of $100 at the end of Year 5. As
of January 1 of Year 3, B has fully performed
its obligations, but the note’s fair market
value is $70. On January 1 of Year 3, P buys
all of X’s stock. B is solvent within the
meaning of section 108(d)(3).

(b) Deemed satisfied and reissuance. Under
paragraph (g)(4) of this section, B is treated
as satisfying its indebtedness for $70
(determined under the principles of §1.108—
2(f)(2)) immediately after X becomes a
member. Both X’s $30 capital loss under
section 1271(a)(1) and B’s $30 of discharge of
indebtedness income under section 61(a)(12)
are taken into account in determining
consolidated taxable income for Year 3.
Under paragraph (g)(4)(ii)(C) of this section,
the attributes of items resulting from the
satisfaction are determined on a separate
entity basis. But see section 382 and
§1.1502-15 (limitations on the absorption of
built-in losses). B is also treated as reissuing
a new note. The new note is an intercompany
obligation, it has a $70 issue price and $100
stated redemption price at maturity, and the
$30 of original issue discount will be taken
into account by B and X in the same manner
as provided in paragraph (c) of Example 1 of
this paragraph (g)(5).

(c) Election to file consolidated returns.
Assume instead that B borrows $100 from S

during Year 1, but the P group does not file
consolidated returns until Year 3. Under
paragraph (g)(4) of this section, B’s
indebtedness is treated as satisfied and a new
note reissued immediately after the debt
becomes intercompany debt. The satisfaction
and reissuance are deemed to occur on
January 1 of Year 3, for the fair market value
of the note (determined under the principles
of §1.108-2(f)(2)) at that time.

Example 5. Notional principal contracts.
(a) Facts. On April 1 of Year 1, M1 enters into
a contract with counterparty M2 under
which, for a term of five years, M1 is
obligated to make a payment to M2 each
April 1, beginning in Year 2, in an amount
equal to the London Interbank Offered Rate
(LIBOR), as determined on the immediately
preceding April 1, multiplied by a $1,000
notional principal amount. M2 is obligated to
make a payment to M1 each April 1,
beginning in Year 2, in an amount equal to
8% multiplied by the same notional
principal amount. LIBOR is 7.80% on April
1 of Year 1. On April 1 of Year 2, M2 owes
$2 to M1.

(b) Matching rule. Under §1.446-3(d), the
net income (or net deduction) from a notional
principal contract for a taxable year is
included in (or deducted from) gross income.
Under § 1.446-3(e), the ratable daily portion
of M2’s obligation to M1 as of December 31
of Year 1 is $1.50 ($2 multiplied by 275/365).
Under the matching rule, M1’s net income for
Year 1 of $1.50 is taken into account to
reflect the difference between M2’s net
deduction of $1.50 taken into account and
the $0 recomputed net deduction. Similarly,
the $.50 balance of the $2 of net periodic
payments made on April 1 of Year 2 is taken
into account for Year 2 in M1’s and M2’s net
income and net deduction from the contract.
In addition, the attributes of M1’s
intercompany income and M2’s
corresponding deduction are redetermined to
produce the same effect as if the transaction
had occurred between divisions of a single
corporation. Under paragraph (c)(4)(i) of this
section, the attributes of M2’s corresponding
deduction control the attributes of M1’s
intercompany income. (Although M1 is the
selling member with respect to the payment
on April 1 of Year 2, it might be the buying
member in a subsequent period if it owes the
net payment.)

(c) Dealer. The facts are the same as in
paragraph (a) of this Example 5, except that
M2 is a dealer in securities, and the contract
with M1 is not inventory in the hands of M2.
Under section 475, M2 must mark its
securities to market at year-end. Assume that
under section 475, M2’s loss from marking to
market the contract with M1 is $100. Under
paragraph (g)(3) of this section, M2 is treated
as making a $100 payment to M1 to terminate
the contract immediately before section 475
is applied. M1’s $100 of income from the
termination payment is taken into account
under the matching rule to reflect M2’s
deduction under § 1.446-3(h). The attributes
of M1’s intercompany income and M2’s
corresponding deduction are redetermined to
produce the same effect as if the transaction
had occurred between divisions of a single
corporation. Under paragraph (c)(4)(i) of this
section, the attributes of M2’s corresponding



